
1 Aufgaben
Gib die ersten zwei Ableitungen folgender Funktionen an:

a) f(x) = 1
4x4 b) f(x) = 15x − 45 c) f(x) = x2 − 6x

d) f(x) = 3x2 − 8x − 3 e) f(x) = 10x2 · (x + 7) f) f(x) = (x + 3)2

g) f(x) = 2x · sin(x)



2 Lösungen
a)

f(x) = 1
4x4

f
′(x) = x3

f
′′(x) = 3x2

b)
f(x) = 15x − 45
f

′(x) = 15
f

′′(x) = 0
c)

f(x) = x2 − 6x
f

′(x) = 2x − 6
f

′′(x) = 2
d)

f(x) = 3x2 − 8x − 3
f

′(x) = 6x − 8
f

′′(x) = 6
e)

f(x) = 10x2 · (x + 7)
f

′(x) = 10x2 · 1 + 20x(x + 7)
f

′(x) = 10x2 + 20x2 + 140x
f

′(x) = 30x2 + 140x
f

′′(x) = 60x + 140
f)

f(x) = (x + 3)2

f
′(x) = 2 · (x + 3)1 · ((x + 3)′)

= 2(x + 3) · 1
f

′(x) = 2(x + 3)
f

′′(x) = 2
g)

f(x) = 2x · sin(x)
f

′(x) = 2x · cos(x) + 2 · sin(x)
f

′′(x) = 2x · (− sin(x)) + 2 · cos(x) + 2 · cos(x)
= 2x(− sin(x)) + 4 cos(x)

f
′′(x) = 4 cos(x) − 2x sin(x)

Quelle: Ableitungen

http://www.mathe-ist-einfach.de/Ableitungen/Ableitungen.html
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